

Thomas N. Vougiouklis

On the basic representation of the affine Kac-Moody Lie algebras  $D_n^{(1)}$

*Commentationes Mathematicae Universitatis Carolinae*, Vol. 29 (1988), No. 1, 117--125

Persistent URL: <http://dml.cz/dmlcz/106603>

## Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1988

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

ON THE BASIC REPRESENTATION OF THE AFFINE  
KAC-MOODY LIE ALGEBRAS  $D_n^{(1)}$

Thomas N. VOUGIOUKLIS

**Abstract:** We compute the constants needed for the principal realization given in [3] of the affine Kac-Moody Lie algebras  $D_n^{(1)}$ ,  $n \geq 4$ .

**Key words:** Affine Kac-Moody Lie algebras, graded Lie algebras.

**Classification:** 17B65, 17B70

**1. Introduction.** Let  $n \geq 4$ . Let  $\{E_{ij}\}_{j=1, \dots, 2n}$  be the standard basis of the space of  $2n \times 2n$  complex matrices, so that the matrix  $E_{ij}$  is 1 in the  $ij$ -entry and 0 in all the other entries. In the case of Kac-Moody Lie algebra  $\mathfrak{G}(A)$  of type  $D_n^{(1)}$  ( $n \geq 4$ ) we have (see [4], [9])

$$(1) \quad \mathfrak{G} = \mathfrak{o}(2n, \mathbb{C}), \quad (x|y) = \text{tr } xy.$$

Instead of the standard representations [2], we consider all  $2n \times 2n$  complex matrices in the form given in [1], for type  $D_n$ . We can take the Chevalley generators [3] (cf. [8])  $e_i, f_i, h_i$  given in [10] by the following relations, for  $i=1, \dots, n-1$ .

$$(2) \quad \left\{ \begin{array}{l} e_0 = E_{2n-1,1} - E_{2n,2}, e_i = E_{i,i+1} - E_{2n-i,2n-i+1}, \\ e_n = E_{n-1,n+1} - E_{n,n+2}, \\ f_0 = E_{1,2n-1} - E_{2,2n}, f_i = E_{i+1,i} - E_{2n-i+1,2n-i}, \\ f_n = E_{n+1,n-1} - E_{n+2,n}, \\ h_0 = E_{2n,2n} + E_{2n-1,2n-1} - E_{22} - E_{11}, \\ h_i = E_{2n-i,2n-i} + E_{ii} - E_{2n-i+1,2n-i+1} - E_{i+1,i+1}, \\ h_n = E_{nn} + E_{n-1,n-1} - E_{n+2,n+2} - E_{n+1,n+1} \end{array} \right.$$

Let us denote (see [10]) by  $\kappa$  the number defined in the following way:

$\kappa = \kappa$  if  $\kappa \leq n$  and  $\kappa = \kappa - 1$  if  $\kappa > n$  for every  $\kappa$  of  $Z$ . Moreover let  $h=2(n-1)$  be the Coxeter number [3]. Then we have the following

**Proposition 1** (see [10]). A Lie algebra  $\mathfrak{G}$  of type  $D_n$  is a graded modh where the 1-principal  $Z/hZ$ -gradation is given by setting

$$\deg E_{i,j} = (j-i) \text{ modh.}$$

So we can write

$$\mathfrak{G} = \bigoplus_{i \in Z/hZ} \mathfrak{G}_i.$$

We take a normalized 1-cyclic element [6] as follows:  $E = \beta_i e_i$  where  $\beta_0 = \beta_1 = \beta_{n-1} = \beta_n = 1/\sqrt{2}$ ,  $\beta_i = 1$  for  $i=2, \dots, n-2$ . One obtains the relations

$$(3) \begin{cases} E^{h+1} = (-1)^n E, & E^{2\kappa-1} = (-1)^n t_E^{2(n-\kappa)-1} \text{ for } \kappa \in \mathbb{N}; \kappa \neq \frac{n}{2}, \\ \text{and } \text{tr } E^h = (-1)^n h. \end{cases}$$

The centralizer  $S$  of  $E$  is a CSA of  $\mathfrak{G}$  with dimension  $n$  (see [6]). A basis of  $S$  is  $\{E, E^3, \dots, E^{2n-3}, E_0\}$  where

$$E_0 = E_{1n} - E_{1,n+1} + E_{n1} + E_{n,2n} - E_{n+1,1} - E_{n+1,2n} + E_{2n,n} - E_{2n,n+1},$$

and we have

$$(4) \quad E_0^2 + (-1)^n 4E^h = 4I, \quad \text{tr } E_0^2 = 8, \quad \text{and } E_0 E^\nu = E^\nu E_0 = 0 \text{ for every } \nu.$$

In [5] and [3] a construction of the basic representation of the affine Kac-Moody Lie algebras have been introduced which construction is a generalization of the one introduced in [7]. This construction has been called principal realization. For this realization, in the case of  $D_n^{(1)}$ , one needs  $n$  root vectors  $A_1, \dots, A_n$ , with respect to  $S$ , such that their projections on  $\mathfrak{G}_0$  form a basis of  $\mathfrak{G}_0$ . Moreover if  $\{T_s\}_{s=1, \dots, n}$  is a basis of  $S$  which is normalized such that  $(T_i | T_{n+1-j}) = \delta_{ij}$  for all  $i, j=1, \dots, n$ , then the constants  $\lambda_{rs}$  defined by the relation  $[T_s, A_r] = \lambda_{rs} A_r$  are needed for the principal realization. If we decompose the vectors  $A_r$  with respect to the 1-principal gradation

$$A_r = \sum_{\nu} A_{r\nu}, \quad r=1, \dots, n; \quad \nu \in Z/hZ,$$

then the elements  $A_{r\nu}, T_s$  where  $r, s=1, \dots, n; \nu=0, \dots, n-1$ , form a basis of  $\mathfrak{G}$ . The aim of this paper is to compute the constants  $\lambda_{rs}$  in the case of  $D_n^{(1)}$ ,  $n \geq 4$ .

2. A basis of  $\mathfrak{G}$ . Let  $n=2\kappa$ . Then decomposing the  $S$  with respect to the 1-principal gradation we have dimension one for the degrees  $1, 3, \dots, n-3, n+1, n+3, \dots, 2n-3$ , and dimension two for the degree  $n-1$ . For the dimension  $n-1$  we have a basis:  $\{E^{n-1}, E_0\}$ .

For the one dimensional degrees, in order that the relation  $(T_i | T_{n+1-j}) = \delta_{ij}$  should be valid, we can take the vectors

$$(5) \quad \begin{cases} T_s = \frac{1}{\sqrt{n}} E^{2s-1} & \text{for } s=1, \dots, \kappa-1; \\ T_s = t T_{n+1-s} = \frac{1}{\sqrt{n}} E^{2s-3} & \text{for } s=\kappa+2, \dots, n. \end{cases}$$

It remains to find two vectors  $T_\kappa, T_{\kappa+1}$  of dimension  $n-1$ , i.e. from the linear span of  $E^{n-1}, E$ , such that  $(T_\kappa | T_\kappa) = 0, (T_{\kappa+1} | T_{\kappa+1}) = 0$  and  $(T_\kappa | T_{\kappa+1}) = 1$ . Using the relations (3) and (4) one obtains the vectors.

$$(6) \quad T_\kappa = \frac{1}{\sqrt{2}} E^{n-1} + \frac{i}{4} E_0, \quad T_{\kappa+1} = \frac{1}{\sqrt{2}} E^{n-1} - \frac{i}{4} E_0, \quad \text{where } i^2 = -1.$$

Therefore a normalized basis in case that  $n=2\kappa$  is given by the relations (5) and (6).

Let  $n=2\kappa+1$ . In this case for  $S$  we have only dimension one on the degrees  $1, 3, \dots, n-2, n-1, n, \dots, 2n-3$ . So in a similar way as above we have the following as a normalized basis of  $S$ :

$$(7) \quad \begin{cases} T_s = \frac{1}{\sqrt{n}} E^{2s-1} & \text{for } s=1, \dots, \kappa; \quad T_{\kappa+1} = \frac{1}{2\sqrt{2}} E_0; \\ T_s = -t T_{n+1-s} = \frac{1}{\sqrt{n}} E^{2s-3} & \text{for } s=\kappa+2, \dots, n. \end{cases}$$

**Proposition 2.** Let  $\Theta_r = \frac{r\pi}{n-1}$ , and  $X = \text{diag}(x_1, \dots, x_n, -x_n, \dots, -x_1)$  be the elements of  $\mathfrak{G}_n$ . Then the  $(\text{ad}E)^h$  has eigenvalues

$$(8) \quad \lambda_r = (-1)^{n+r} \cdot 2^h \cos^h \frac{\Theta_r}{2} \quad \text{for } r=1, \dots, n-2, \quad \text{and } \lambda_{n-1} = \lambda_n = (-1)^n$$

with corresponding, appropriate, eigenvectors

$$(9) \quad A_{r0} = \text{diag}(0, -\sin \Theta_r, \dots, (-1)^{n-2} \sin(n-2) \Theta_r, 0, \\ 0, -(-1)^{n-2} \sin(n-2) \Theta_r, \dots, \sin \Theta_r, 0),$$

$$(10) \quad \begin{cases} A_{n-1,0} = \text{diag}(1, 0, \dots, \nu_1, -\nu_1, 0, \dots, -1) \\ A_{n0} = \text{diag}(1, 0, \dots, \nu_2, -\nu_2, 0, \dots, -1), \end{cases}$$

where  $\nu_1, \nu_2$  are the square roots of  $(-1)^n$ .

The set  $\{A_{10}, \dots, A_{n0}\}$  is a basis of  $\mathfrak{S}_0$ .

**Proof.** The non-degenerate operator  $\text{ad}E$  shifts the gradation by 1, see [3], so the vectors

$$(\text{ad}E)^h X = \sum_{s=0}^h (-1)^s \binom{h}{s} E^{h-s} X E^s$$

are of degree zero. Since  $E^{h-s} = (-1)^n t_E^s$ ,  $0 < s < h$ , we obtain

$$(11) \quad (\text{ad}E)^h X = (-1)^n \sum_{s=1}^{h-1} \binom{h}{s} t_E^s X E^s + E^h X + X E^h,$$

Our problem is to solve the matrix equation  $(\text{ad}E)^h X = \lambda X$  or from relation (11) to solve the equation

$$(12) \quad \sum_{s=1}^{h-1} \binom{h}{s} t_E^s X E^s + (-1)^n (E^h X + X E^h) = (-1)^n \lambda X.$$

We have two cases:

**Case A.** Let  $X = \text{diag}(0, x_2, \dots, x_{n-1}, 0, 0, -x_{n-1}, \dots, -x_2, 0)$ . In this case depending on the skew symmetry with respect to the second diagonal of  $x_2, \dots, x_{n-1}$  in (12) we have to solve the homogeneous system on  $x_2, \dots, x_{n-1}$  with coefficient matrix the  $(n-2) \times (n-2)$  matrix which has on the  $\nu$ -th row,  $\nu=1, \dots, n-2$ , the following entries

$$\begin{aligned} & (-1)^{\nu+1} \left[ \binom{h}{\nu-1} - \binom{h}{\nu+1} \right], \quad (-1)^{\nu+2} \left[ \binom{h}{\nu-2} - \binom{h}{\nu+2} \right], \dots, \\ & - \left[ \binom{h}{1} - \binom{h}{2\nu-1} \right], \quad 2 - \binom{h}{2\nu} - (-1)^n \lambda, \quad - \left[ \binom{h}{1} - \binom{h}{2\nu+1} \right], \dots, \\ & (-1)^{n-\nu-3} \left[ \binom{h}{n-3-\nu} - \binom{h}{n-3+\nu} \right], \quad (-1)^{n-\nu-2} \left[ \binom{h}{n-2-\nu} - \binom{h}{n-2+\nu} \right]. \end{aligned}$$

Solving the above system we finally obtain that the  $n-2$  eigenvalues of the  $(\text{ad}E)^h$  are given by the relation (8) for  $r=1, \dots, n-2$  and the corresponding eigenvectors are given by the relation (9). For the above computation we use the well known identity

$$\cos^h \theta = \frac{1}{2^{h-1}} \sum_{k=0}^{h/2-1} \binom{h}{k} \cos(h-2k)\theta + \frac{1}{2^h} \binom{h}{h/2}$$

**Case B.** Let  $X = \text{diag}(x_1, 0, \dots, 0, x_n, -x_n, 0, \dots, 0, -x_1) = A_{r0}$  where  $r=n-1, n$ . In this case all matrices  $(\text{ad}E)^\nu A_{r0}$  have non-zero entries only on  $1, n, n+1, 2n$  rows and columns. Moreover  $A_r = \sum_{\nu} A_{r\nu}$  must be an eigenvector of the  $\text{ad}E_0$ , i.e.  $(\text{ad}E_0)A_r = \mu A_r$ . Solving the above system we obtain the eigenvalue  $(-1)^n$  for  $(\text{ad}E)^h$  and a corresponding basis of  $X$ 's is the one given by (10). From the cases A and B we obtain that  $\{A_{10}, \dots, A_{n0}\}$  is a basis of  $\mathfrak{S}_0$ .

**Remark.** Let  $\epsilon_r$  be a  $h$ -primitive root of  $(-1)^{n+r}$  for  $r=1, \dots, n-2$ , and  $\epsilon_{n-1} = \epsilon_n = \epsilon$  be a  $h$ -primitive root of  $(-1)^n$ . We set

$$(13) \quad A_r = \sum_{\nu=1}^h \mu_r^{-\nu} (\text{ad}E)^\nu A_{r0}$$

where  $\mu_r = 2\epsilon_r \cos \frac{\theta_r}{2}$ , and  $\mu_{n-1} = \mu_n = \epsilon$ . Then  $I_s$  for  $s=1, \dots, n$  together with the homogeneous components

$$(14) \quad A_{r\nu} = \mu_r^{-\nu} (\text{ad}E)^\nu A_{r0}, \quad r=1, \dots, n; \quad \nu=0, \dots, h-1$$

of  $A_r$ , form a basis of  $\mathcal{G}$ .

In order to write explicitly the matrices  $A_r$  for  $r=1, \dots, n-2$  which are skew symmetric with respect to the second diagonal lets consider the matrix

$$A_r = \begin{pmatrix} A_{r1} & A_{r2} \\ A_{r3} & A_{r4} \end{pmatrix}$$

where  $A_{r1}, A_{r2}, A_{r3}, A_{r4}$  are  $n \times n$  matrices.

We set  $\epsilon$  and  $\langle \nu, \mu \rangle$  instead of  $\epsilon_r$  and  $(-1)^\nu \sin \mu \frac{\theta_r}{2}$  respectively, and we write simply the upper parts of the skew symmetric, with respect to the second diagonal, matrices  $A_{r2}, A_{r3}$ . Then  $A_{r1}, A_{r2}, A_{r3}$  are given respectively as follows:

$$\left( \begin{array}{cccccc} 0 & \frac{\langle 1,1 \rangle}{\epsilon \sqrt{2}} & \frac{\langle 2,2 \rangle}{\epsilon^2 \sqrt{2}} & \dots & \frac{\langle n-3, n-3 \rangle}{\epsilon^{n-3} \sqrt{2}} & \frac{\langle n-2, n-2 \rangle}{\epsilon^{n-2} \sqrt{2}} & \frac{\langle n+r, n-1 \rangle}{\epsilon^{n-1} 2} \\ \frac{\langle n+r, 1 \rangle}{\epsilon^{2n-3} \sqrt{2}} & \langle 1,2 \rangle & \frac{\langle 2,3 \rangle}{\epsilon} & \dots & \frac{\langle n-3, n-2 \rangle}{\epsilon^{n-4}} & \frac{\langle n-2, n-1 \rangle}{\epsilon^{n-3}} & \frac{\langle n+r, n-2 \rangle}{\epsilon^{n-2} \sqrt{2}} \\ \frac{\langle n+r, 2 \rangle}{\epsilon^{2n-4} \sqrt{2}} & \frac{\langle n+r-1, 3 \rangle}{\epsilon^{2n-3}} & \langle 2,4 \rangle & \dots & \frac{\langle n-3, n-1 \rangle}{\epsilon^{n-5}} & \frac{\langle n+r-1, n-2 \rangle}{\epsilon^{n-4}} & \frac{\langle n+r, n-3 \rangle}{\epsilon^{n-3} \sqrt{2}} \\ \dots & \dots & \dots & \dots & \dots & \dots & \dots \\ \frac{\langle n+r, n-3 \rangle}{\epsilon^{n+1} \sqrt{2}} & \frac{\langle n+r-1, n-2 \rangle}{\epsilon^{n+2}} & \frac{\langle n+r, n-1 \rangle}{\epsilon^{n+3}} & \dots & \langle n+r, 4 \rangle & \frac{\langle n+r-1, 3 \rangle}{\epsilon} & \frac{\langle n+r, 2 \rangle}{\epsilon^2 \sqrt{2}} \\ \frac{\langle n+r, n-2 \rangle}{\epsilon^n \sqrt{2}} & \frac{\langle n+r-1, n-1 \rangle}{\epsilon^{n+1}} & \frac{\langle n-1, n-2 \rangle}{\epsilon^{n+2}} & \dots & \frac{\langle 2,3 \rangle}{\epsilon^{2n-3}} & \langle n+r-1, 2 \rangle & \frac{\langle n+r, 1 \rangle}{\epsilon \sqrt{2}} \\ \frac{\langle n-1, n-1 \rangle}{\epsilon^{n-1} 2} & \frac{\langle n-2, n-2 \rangle}{\epsilon^n \sqrt{2}} & \frac{\langle n-3, n-3 \rangle}{\epsilon^{n+1} \sqrt{2}} & \dots & \frac{\langle 2,2 \rangle}{\epsilon^{2n-4} \sqrt{2}} & \frac{\langle 1,1 \rangle}{\epsilon^{2n-3} \sqrt{2}} & 0 \end{array} \right)$$

$$\begin{pmatrix}
\frac{\langle n+r, n-1 \rangle}{\epsilon^{n-1} 2} & \frac{\langle n+r, n-2 \rangle}{\epsilon^n \sqrt{2}} & \frac{\langle n+r, n-3 \rangle}{\epsilon^{n+1} \sqrt{2}} & \dots & \frac{\langle n+r, 2 \rangle}{\epsilon^{2n-4} \sqrt{2}} & \frac{\langle n+r, 1 \rangle}{\epsilon^{2n-3} \sqrt{2}} & 0 \\
\frac{\langle n+r, n-2 \rangle}{\epsilon^{n-2} \sqrt{2}} & \frac{\langle n+r, n-3 \rangle}{\epsilon^{n-1}} & \frac{\langle n+r, n-4 \rangle}{\epsilon^n} & \dots & \frac{\langle n+r, 1 \rangle}{\epsilon^{2n-5}} & & 0 \\
\frac{\langle n+r, n-3 \rangle}{\epsilon^{n-3} \sqrt{2}} & \frac{\langle n+r, n-4 \rangle}{\epsilon^{n-2}} & \frac{\langle n+r, n-5 \rangle}{\epsilon^{n-1}} & \dots & & & 0 \\
\dots & \dots & \dots & \dots & \dots & \dots & \dots \\
\frac{\langle n+r, 2 \rangle}{\epsilon^2 \sqrt{2}} & \frac{\langle n+1, 1 \rangle}{\epsilon^3} & & 0 & & & \\
\frac{\langle n+r, 1 \rangle}{\epsilon \sqrt{2}} & & & & & & \\
0 & & & & & & 
\end{pmatrix}$$

$$\begin{pmatrix}
\frac{\langle n-1, n-1 \rangle}{\epsilon^{n-1} 2} & \frac{\langle n-2, n-2 \rangle}{\epsilon^n \sqrt{2}} & \frac{\langle n-3, n-3 \rangle}{\epsilon^{n+1} \sqrt{2}} & \dots & \frac{\langle 2, 2 \rangle}{\epsilon^{2n-4} \sqrt{2}} & \frac{\langle 1, 1 \rangle}{\epsilon^{2n-3} \sqrt{2}} & 0 \\
\frac{\langle n-2, n-2 \rangle}{\epsilon^{n-2} \sqrt{2}} & \frac{\langle n-3, n-3 \rangle}{\epsilon^{n-1}} & \frac{\langle n-4, n-4 \rangle}{\epsilon^n} & \dots & \frac{\langle 1, 1 \rangle}{\epsilon^{2n-5}} & & 0 \\
\frac{\langle n-3, n-3 \rangle}{\epsilon^{n-3} \sqrt{2}} & \frac{\langle n-4, n-4 \rangle}{\epsilon^{n-2}} & \frac{\langle n-5, n-5 \rangle}{\epsilon^{n-1}} & \dots & & & 0 \\
\dots & \dots & \dots & \dots & \dots & \dots & \dots \\
\frac{\langle 2, 2 \rangle}{\epsilon^2 \sqrt{2}} & \frac{\langle 1, 1 \rangle}{\epsilon^3} & & 0 & & & \\
\frac{\langle 1, 1 \rangle}{\epsilon \sqrt{2}} & & & & & & \\
0 & & & & & & 
\end{pmatrix}$$

For the skew symmetric with respect to the second diagonal matrices  $A_{n-1}, A_n$  we have, analogously for  $\mathbf{v}=\mathbf{v}_1, \mathbf{v}_2$  the following upper part:

$$\left( \begin{array}{cccccccc}
 1 & \frac{-1}{\epsilon\sqrt{2}} & \dots & \frac{(-1)^{n-2}}{\epsilon^{n-2}\sqrt{2}} & \frac{\nu(-1)^n}{\epsilon^{n-1}2} & \frac{-\nu(-1)^n}{\epsilon^{n-1}2} & \frac{-(-1)^n}{\epsilon^n\sqrt{2}} & \dots & \frac{-(-1)^n}{\epsilon^{2n-3}\sqrt{2}} \\
 \frac{(-1)^n}{\epsilon^{2n-3}\sqrt{2}} & 0 & \dots & 0 & \frac{\nu}{\epsilon^{n-2}\sqrt{2}} & \frac{-\nu}{\epsilon^{n-2}\sqrt{2}} & 0 & \dots & 0 \\
 \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots \\
 \frac{(-1)^n}{\epsilon^n\sqrt{2}} & 0 & \dots & 0 & \frac{\nu}{\epsilon^2\sqrt{2}} & \frac{-\nu}{\epsilon^2\sqrt{2}} & 0 & \dots & 0 \\
 \frac{-\nu+(-1)^n}{\epsilon^{n-1}2} & \frac{\nu}{\epsilon^n\sqrt{2}} & \dots & \frac{-(-1)^n\nu}{\epsilon^{2n-3}\sqrt{2}} & \nu & 0 & \dots & \dots & \dots \\
 \frac{\nu+(-1)^n}{\epsilon^{n-1}2} & \frac{-\nu}{\epsilon^n\sqrt{2}} & \dots & \frac{(-1)^n\nu}{\epsilon^{2n-3}\sqrt{2}} & 0 & \dots & \dots & \dots & \dots \\
 \frac{-(-1)^n}{\epsilon^{n-2}\sqrt{2}} & 0 & \dots & 0 & \dots & \dots & \dots & \dots & \dots \\
 \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots \\
 \frac{1}{\epsilon\sqrt{2}} & 0 & \dots & \dots & \dots & \dots & \dots & \dots & \dots \\
 0 & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots
 \end{array} \right)$$

Now using the formulas (13) or (14) it is a simple calculation to obtain all Lie brackets of  $A_r$  with the powers of the element  $E$  as well as with  $E_0$ . Note that only the odd powers of  $E$  are elements of  $\mathfrak{S}$ . So the following proposition is obtained.

**Proposition 3.** If  $j \in \{1, 3, \dots, n-1\}$ , then we have

$$(\text{ad} E^j)A_r = 2 \epsilon^j \cos \frac{j\theta_r}{2} A_r \text{ for } r=1, \dots, n-2$$

and

$$(\text{ad} E^j)A_r = \epsilon^j A_r \text{ for } r=n-1, n.$$

Moreover

$$(\text{ad} E_0)A_r = 0 \text{ for } r=1, \dots, n-2, \text{ and}$$

$$(\text{ad} E_0)A_r = \frac{-2\nu}{\epsilon^{n-1}} A_r \text{ for } r=n-1, n \text{ where } \nu = \nu_1, \nu_2.$$

**3. The results.** Using the above notation we can compute the constants  $\lambda_{rs}$  from the relation  $[T_s, A_r] = \lambda_{rs} A_r$ . From Proposition 3 we obtain that all constants  $\lambda_{rs}$ , where  $r, s=1, \dots, n$ , are the following:

**3.1.** Let  $r=1, \dots, n-2$  then



$$\lambda_{rs} = \frac{2}{\sqrt{h}} \epsilon_r^{2s-1} \cos \frac{(2s-1)\theta_r}{2} \text{ for } \begin{cases} s=1, \dots, k-1 & \text{if } n=2k \text{ and} \\ s=1, \dots, k & \text{if } n=2k+1. \end{cases}$$

$$\lambda_{rs} = \frac{2}{\sqrt{h}} \epsilon_r^{2s-3} \cos \frac{(2s-3)\theta_r}{2} \text{ for } s=k+2, \dots, n \text{ if } n=2k \text{ or } n=2k+1.$$

Moreover

$$\lambda_{rk} = \lambda_{r,k+1} = \frac{1}{\sqrt{2h}} \epsilon_r^{n-1} \cos \frac{(n-1)\theta_r}{2} \text{ if } n=2k \text{ and}$$

$$\lambda_{r,k+1} = 0 \text{ if } n=2k+1.$$

3.2. Let  $r=n-1, n$  then for  $\nu=\nu_1, \nu_2$  respectively we have

$$\lambda_{rs} = \frac{\epsilon_r^{2s-1}}{\sqrt{h}} \text{ for } s=1, \dots, k-1 \text{ if } n=2k, \text{ and } s=1, \dots, k \text{ if } n=2k+1.$$

$$\lambda_{rs} = \frac{\epsilon_r^{2s-3}}{\sqrt{h}} \text{ for } s=k+2, \dots, n \text{ if } n=2k \text{ or } n=2k+1.$$

Moreover

$$\lambda_{rk} = \left( \frac{1}{\sqrt{2h}} - \frac{\nu i}{2} \right) \epsilon^{n-1}, \quad \lambda_{r,k+1} = \left( \frac{1}{\sqrt{2h}} - \frac{\nu i}{2} \right) \epsilon^{n-1} \text{ if } n=2k$$

where  $i^2 = -1$ ,

and

$$\lambda_{r,k+1} = \frac{\nu \epsilon^{n-1}}{\sqrt{2}} \text{ if } n=2k+1.$$

#### References

- [1] DJOKOVIĆ D.: Classification of  $\mathbb{Z}$ -graded real semisimple Lie algebras, Journal of Algebra 76(1982), 367-382.
- [2] DUSHAN P.: Deformations of graded nilpotent Lie algebras, Moscow Un. Math. Bulletin, Vol. 36, No 44(1981), 62-66.
- [3] KAČ V.: Infinite Dimensional Lie algebras, Birkhäuser, Boston, 1983.
- [4] KAČ V.: Simple irreducible graded Lie algebras of finite growth, Izv. Akad. Nauk SSSR Ser. Mat. Tom 32(1968), No 6, 1271-1311.
- [5] KAČ V., KAZHDAN D., LEPOWSKY J. and WILSON R.: Realization of the basic representations of the Euclidean Lie algebras, Advances in Math. 42(1981), 83-112.
- [6] KOSTANT B.: The principal three-dimensional subgroup and the Betti numbers of a complex simple Lie group, American Journal of Math. 81(1959), 973-1032.
- [7] LEPOWSKY J. and WILSON R.: Construction of the affine Lie algebra  $A_1^{(1)}$ . Comm. Math. Phys. 62(1978), 43-53.

- [8] MITZMAN D.: Integral Bases for Affine Lie Algebras and Their Universal Enveloping Algebras, A.M.S. Contemporary Math. Vol. 40(1985).
- [9] MOODY R.: A new class of Lie algebras, Journal of Algebra 10(1968), 211-230.
- [10] VOUGIOUKLIS T.: On affine Kac-Moody Lie algebras, Comment. Math . Univ. Carolinae 26(1985), 387-395.

Democritos University of Thrace, 67100 Xanthi, Greece

(Oblatum 9.10. 1987)